SOLUTIONS OF GRAMMAR BANK 6

6.A

a)

1 (right)

2 I'll be having

3 going to watch

4 going top ay me

5 (right)

6 (right)

7 I'll be wearing

8 (right)

9 (right)

b)

1 no difference

5 no differenc

6 is due to arrive is more formal
8 is to open is more formal

9 I’m going to see John implies you have planned it. I'll be seeing implies it’s sth you know will
happen, but that you have probably not planned yourself.

c)

1 We're about to go out

2 Our head of department is due to be promoted
3 Will you be going to the canteen at luchtime

4 The ministers are on the point of signing

5 I'll be seeing James

6.B

a) (these words should be crossed out)



1 like it

2 win

3 taken it

4|

5 come to dinner, come
6 go

7 be able to go
8 we

b)

lis

2 will

3am

4 didn’t

5 would

6 must / should
7 can’t

8 does

c)

1 hope not

2 used to

3 suppose not
4 ‘lltry to

5 guess so

6 ‘ve always wanted to
6.C

a)

11t



2 What

3 reason

4 happens

5 All

6 place

7 What

8 me

b)

1 The reason why she left her husband was because
2 The place where we stopped for lunch
3 What happene was (that)

4 What really annoyed me was (that)

5 It was a girl form my town who

6 All | said was

7 The person | like best of all my relatives
8 What happens is (that)

9 What you need to do right now is

10 The first time | met Serena was



